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2.A cylinder of mass M. radius R. is roll without slipping on an incline making
an angle 8 with the horizontal, Calculate the friction force acting on the
cylinder.
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4.Find the electric potential inside a uniform charge distribution sphere with
total charge Q and radius E.
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6.4 search coil used to measure magnetic fields is to be made with a radius of
2cm. 1t is to be designed so that flipping it 180° in a field of 0.2T causes a

total charge of 5% 10™C to flow in a charge-measuring instrument when the
total circuit resistance is 25Q. How many turns should the coil have?
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8.A glass plate (n=1.61) is covered with a thin uniform lager of cil (n=1.2). A
non monochromatic light beam in air is incident normally on the oil surface.
Observation of the reflected beam shows destructive interference at 500nm
and constructive interference at 750nm with no intervening maxima or
minima. Calculate the thickness of the oil film.
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